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1 Introduction
For the reliable transport of data service packet in the Nb interface of IP core network, the RTP redundant transport mechanism is introduced in this paper. 

2 Discussions
The CS data service is sensitive for the packet loss, and the packer loss will cause the call fail. When the IP core network is used, the quality of CS data service will be effected greatly. Though some data service protocol has the re-transmission function, its action is limited. So the reliable transport may be introduced into the IP network for data service.   
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To solve the data service transport reliably, the RTP redundant mechanism may be introduced into the 3GPP protocol. The RTP redundant has two solutions.

(1) RFC2198 redundancy mechanism
The first is defined in RFC2198. An example explains the mechanism:

   The original RTP flow is:  RTP1, RTP2, RTP3, …

   After RFC2198 is used, the RTP flow is: RTP1, RTP2/RTP1, RTP3/RTP2,…(RTP2/RTP1 means a RTP packet include two RTP1 and RTP2 packet’s payload).

   When a packet is lost, such as RTP2 packet, the RTP2 packet can be resumed from the RTP3/RTP2 packet.

(2) RFC2733 redundancy mechanism
The second method is defined in RFC2733. An example explains the mechanism:

   The original RTP flow is:  RTP1, RTP2, RTP3, RTP4 …

   After RFC2733 is used, the RTP flow is:  RTP1, RT2, RTP1^RTP2, RTP3, RTP4, RTP3^RTP4,…(RTP2^RTP1 means the XOR operator result of RTP1 and RTP2 packet).

   When a packet is lost, such as RTP2 packet, the RTP2 packet can be resumed from the operation (RTP1) ^ (RTP1^RTP2).  
The redundant need more bandwidth than the original RTP flow.

For example, a RTP flow occupy 200Kbps bandwidth, after the RFC2198 redundant, the bandwidth will be about 300Kbps. But the mechanism can resolve the packet lost.   
3. Proposals
  It is proposed to introduce the RTP redundant into 3GPP protocol, to increase the reliably of data service transport. If the requirement is accepted, the CR will be provided in the next meeting.
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